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. For each queshon from 1 to 15 four opt:ons are given.. One of them is the correct :
.- answer. Make your choice (1 2 '3 or 4). Shade the correct oval on the Optlcal Answer ’
. Sheet (OAS): - .. - _ . [30 marks]

1.  Which one of the following options below cotrectly describes what will happen
to our ribcage and diaphragm when we breathe in and breathe out?

Breathein Breathe out

Ribcage Diaphragm | Ribcage Diaphragm
M Moves out ! Moves inand | .
and upwards Moves downwards downwa ds | Moves downwards

Moves in and
downwards

2) Moves out

and upwards Moves upwards .

Moves downwards

(3) Movesout | ., o downwards: | Moves outand

and upwards upwards Moves upwards

Moves in and
downwards

(4) Moves out

and upwards Moves downwards

Moves upwards

2.  What is the function of the large intestine in our digestive system?
(1) 1t digests water and food.
(2) 1t absorbs the digested food into the blood.
(3) It removes water from the undigested food.

(4) It passes the undigested food out of the body.

(Go on to the next page)



8 . The pictures below sfiow & mealworm I3fva aiid an aduit beetle, - -

Which part(s) below can be observed on the aduit only but not on a mealworm?

legs

wings

antennae
 three body parts

ePow>

(1) Aonly

(2) Bonly .

(3) Aand Conly
(4) B, CandD only

(Go on to the next page)



4. Which diagrami below correcty shows thie direction in which blood flows in -
the human circulatory system? ' '

Key

blaod rich in oxygen
biood rich in carbon dioxide

(Go on to the next page)



o050 Study Hie table below carefully, .

. Number of heart beafé Nlimﬁer of breaths
Activity ) o
per min per min
R 70 Ky
S 120 : 55

What can'we conclude from the above table?

Our heart beats faster during activity S than activity R. -

We take in more oxygen for activity R than for activity S.

Our body needs more energy for activity S than for activity R.
We take in more breaths of air during activity R than activity S.

QR

(1) AandBonly
(2) Aand C only
(3) B,CandD only
(4 A,B,CandD

(Go on to the next page)



7.

Blood entering the small intestine carries less

S thantheblood v

leaving it.

A
B:
C:

(1)
@
(3)
)

oxygen

digested food

carbon dioxide

A and B only
A and C only
B and C only
A, BandC

Study the three cells, P, Q, and R below.

Which of the following are found in all the three cells?

(1
(2)
(3)
(4)

cell wall and nucleus
cytoplasm and nucleus
cytoplasm and chloroplast

cell membrane and chloroplast

(Go on to the next page)



8. Thediagrambelowshows afamilytres.- - IR
Al | Key

— Male

O Female

The following table below shows the characteristics that are present in the family
members.

Characteristics

Family Attached Single Curly Tongue
members ear lobes eyelids -__bair rolling

v - v

v v

v v

v

Mmoo
AR AN
A ARNANAN

hd

Which child inherited only one trait from the father?

(1) C

@2 D
@) E
F

(4)

(Go on to the next page)



X ;9." “The gills and mouth are two organs in the ﬁsﬁ_'bddy;" ;T - 2 RREIES

[ (®)] " gills

mouth

Which one of the following statements on the functions of the gills and the

mouth is true?
Gills Mouth
W) Remove blood containing Absorbs carbon dioxide into the
carbon dioxide . body )
(2) Transport oxygen to all Removes only carbon dioxide
parts of the body from the body ]
{(3) Large surface area for Opens and closes to allow water
optimum contact with water to enter the mouth
4) Removes carbon dioxide Exchange of gases takes place
through the gill cover in the mouth

10. Which of the following characteristics can be used to differentiate between
insects and birds?

- hody covering
presence of wings
number of body parts
number of stages in the life cycle

eow>

(1) AandConly
-{2) AandD only

(3) BandC only

(4) B,CandDonly

(Go on to the next page)



~Male ' " Female
reproductive reproductive
organ organ
is is
. J h F.‘
A C
produces proeduces
- E 4
B D

Fusion of a single B
and a single D

What do A, B, C, D and E represent?

A B Cc D E

1) testis spemms ovary eggs Fertilisation
2) penis sperms | womb eggs | Reproduction |
3 sperms testis eggs ovary Fertilisation
4) testis spermms ovary €ggs Reproduction

(Go on to the next page)



' }.:12 The dlagram below’ shows how food and vanous gases are transported
h in'the human body '

food

Key: — — —» path taken by food
r— path taken by gases

suirounding air

¥ ' l g
——————

l

exhaled air

Which one of the following-options identifies Systems E, F and G ?

(1)-

@)
(3)
{4)

System E System F System G
digestive respiratory circulatory
respiratory digestive circulatory
digestive circulatory respiratory
circulatory respiratory digestive

(Go on to the next page)




13. Whtch one of the followmg statements ls mcorrect?

14,

(1) The body ofan oclopus isa system R
(2) Digestive juices are found i ln the c:roulately system

(3) The stomata are part of the plaﬁt respiratory systein‘

(4) The body systems work together to make the body function properly.

The diagram below shows a single-celled organism which lives in the pond.
Part F helps the organism to move about in the water. It has been observed
that this organism moves near the surface of the pond only in the day.

— F
celt wall

cell membrane

- cytoplasm
chloroplast

nucleus

Which of the following explain(s) why the organism needs to move to the surface in
the day? -

A: it needs to take in oxygen.
B: Ht needs to look for food near the surface.

C: it needs to trap sunlight to photosynthesise.

(1) Aonly

(2) Conly

(3) BandConly
4 A BandC

(Go on to the next page)



15 Some students set up an expenment usmg 4 stmllar Ieaves AB,C and D of
“the 'same mass each.
* There are openings known as stornata on both the upper and lower surfaces

. of the [eaves. |.eaves lose water through the stomata.

They coated some surfaces of the leaves with oil as shown in the table.

Coated with oil
Leaf y
Upper surface Lower surface
A yes ] no
B no yes
C no no
D yes yes

Each leaf was weighed and then hung up in an open area.
After four hours, each leaf was weighed again and the loss of mass was recorded.
The results are shown in the graph below.

Loss of rpass of leaves (g)

What can the studenis conclude about the stomata on the leaves?

(1) There are no stomata on the upper surfaces.
(2) There are more stomata on the lower surfaces.
(3) There are more stomata on the upper surfaces.

(4) There are equal nhumbers of stomata on the upper and lower surfaces
of leaves.

End of Booklet A1
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Answer Sheet (OAS). .

f For each questxon from 16 to 30 four optlons are glven One of them is- the correct
- answer. Make your choice (1; 2;3.or 4) Shade the comect oval on the Optical -

[30 marks]

16.

The flow chart below shows how things can be classified based on their
properties.

Object

Is ltstfb

Isdagocﬁ

conductor of heat?

)

Yes

exible?

No

h 4

No

Yes

No

D

h 4

Which one of the following correctly identifies A, B, C and D?

A B Cc D
(1) plastic bag jron nail steel spoon porcelain vase |’
(2) paper bag wooden table jron nail metal wire
(3) cotton wool copper wire steel fork glass cup
(4) | writing paper { aluminium foil plastic bottle ceramic file

(Go on to the next page)



Soow

- ooy

AT Jmnyﬁlled 2|dent|cal syririg'és completely with different substances, X and Y, L

complétély filled with substance
. s

) - ' push
F . -
sealed end . pttryveTTT

\ rufer

She pushed each syringe as hard as she could with the same strength. She
then measured the distance that she could push and recorded the results in the
table below. . :

Substances Distance pushed
X Ocm
Y 23 cm

Based only on Jinny's results above, which one of the following statements is
correct?

(1) Both substances are in different states.
2) Botﬁ substances have different volume.
(3) Both substances have a definite shape.
(4) Both substances have no definite volume.

{Go on to the next page)



18 The dlagram below shows three, dlscs each \M’th a square hole in the oentre.. .
One of the discsis a Iightwelght woaeden dISC and the other two are magnets.

magnets ' wooden disc L
wooden stand

When the three discs are placed one on top of another through the wooden
stand; which of the following would be possible observations?

(1) Aand D only

(2) A, CandD only
{3) A, C,DandF only
(4) All of the above

» o~ - PY S e



1'_9.- )

20.

No.

Study the flow chart below cé'ré"fi_:i’if.}"_ L

Al

Does it ocoupy.space?

Yes
\

Can it be compressed?

No

N¢

Which letter best represents mist?

(1)
@)
(3)
)

- Yes

4
C

A

B
Cc
b

Does it have a definite shape? ——>| B

The diagram below shows the water cycle.

Water Vapour

NG

Yes

Y -

D

Which sta'ge(s) of the water cycle involve heat loss?

(1)
@)
@)
(4)

A only

D only

C and D only
A, B and D only

(Go on to the next page)
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22.

Fatfmah placed the same amount of crushed loe into four cups of ssmliar s:zes o A
madée of different materials A, B C and D. She recorded the temperature of the' ’

content in the four cups. The results are shown in the graph below. -

Temperature (°C)
A

30T

0 Shadl > Time (min}
Based on the graph above, which one of the following materials can keep hot
soup wamm for the longest period of time?

(1) Material A

(2) Material B

(3) Material C

(4) Material D

The table below shows the state of four substances, W, X, Y and Z, at different
ternperatures.

State of State of State of
Substance substance at substance at substance at
10°C 50°C 90°C
w gaseous gaseous gaseous
X solid solid solid
Y liquid liquid gaseous
Z Solid Liquid liquid

Which substance has the highest melting point?

1 w
2 X
@ Y
4 Z

(Go on to the next page)



' 23 Four contamers A, B, C and D contamlng water were heated to the
7" temperature as shown in the dlagram below ' ‘

90mi 90m/

35°%C

Which of the following statement(s) is/ are true?

P: The water in container A has the least amou‘nt of heat.

- Q:  The water in container D has more heat than container B.
R: The water in containers A and B have the same amount of heat.
S:  The water in containers A and C have the same amount of heat.
(1) Ponly
(2) S only

(3) PandQonly
(4) Qand R only

(Go oni to the next page)
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T 24 In Set-up P, an tce-cr@am cone Was plaoed on a glass pane d:rect!y under a
lighted torch i m a dark room as shown below

con
glass pane— ]-_1

white scree!
ite cren-\ﬁq_w_mrﬁ1

lighted
torc

-

>

retort stand

Set-up P

The lighted torch and the screen were then re-positioned as shown in Set-up Q
and Set-up R.

cone—

glass pane -

lighted torch-

/qﬁ

b

. white screen
.

Set-up Q

~retort
stand

cone

giass pane

L retort

/ stand

Set-up R\

lighted torch

" Which one of the following shows the likely shadows of the cone that were cast

on the white screens in the 3 set-ups?

Set-up P

Set-up Q

Set-up R

(1

@)

(3)

(4)

HpP®e

A
A
A

(Go on to the next page)



v 25, Mr James set up an expenment as shown He shone I:ght on three sh apes P Q : o

** " aiid R iade of thin wood. The {hree diffefent shapes are plaoed af dlfferent
dtstanoes from the torch. . : . -

torch

|

v

VA A A S S A S 4

P

[p7em [é,ynm Ltrer e

The diagram below shows what was seen on the screen.

Which one of the following correctly repfesents P, Q and R respectively?

p Q R
(1) ring square diamond
(2) ring “diamond square
(3) diamond rng square
“4) diamond square ring

(Go on to the next page)



26. Study the classification diagram .t_)eld\;w._"_ B

Water Conservation

|
y
X Y
e Treat waste water to make it ¢ Watering plants with water that was
usable. : used to rinse vegetables.
= Making of Newater. » Using rainwater to wash the floors.

What ways of water conservation do X and Y represent?

X Y
{1 Recycling Reducing
2) Reducing : ' Reusing
(3 " Reusing Recycling
4) Recycling Reusing

27. Mr Raja carried out an experiment using an electric circuit with identical wires,
batteries and Bulb A. He tested the brightness of Bulb A by making some
changes to the circuit. He presented the resuits of his experiment in the graph
shown beiow.

A
| I Brightness
N " of bulb (lux)

&

Bulb A

Y
>

"Based on the graph, which one of the following represents variable X?

(1)  Number of bulbs arranged in series

(2) Number of bulbs arranged in paraliel
(3) Number of batteries aranged in series
(4) Number of batteries arranged in paralel

(Go on‘to the next page)



© 28." Johnny fested a paper circuit card-and récordéd the results in the table below,

' Clips tested ‘| Did the biilb.light ip?
Aand E Yes
Aand D Yes
Band D Yes
BandC No
Dand E _ Yes
EandF No

Which of the following diagrams show(s) the p_ossible_connections-of the clips
by wires? ) )
Diagram P Diagram Q Diagram R
F . F F

\% \% V

A | E ApD——<g A E
B%n B D B;ED
" >Y<

c T ¢ ' C

paper circuit paper circuit
. cards : cards

(1) Ponly

(2) PandQonly
(3) PandRonly
(4) Qand Ronly

(Go on to the next page)



' 29. Mr Kuriarset up:an‘eléctric circuit with thiree identical bulbs, L1, 12 and 13,
He has three rods, X, Y and Z made of unknown materials. He places -
' them in different positions, A, B and C, in the circuit below.

12

~———o Ao _ @
1 (X) (Lgs}
—i]1]1

The resuits of the experiment are recorded in the table below. When any of the
bulbs, B1, B2 or B3, lights up during the experiment, a tick (v') is placed in the

20 @

8 07 @——

box.
Positions where the rods are placed Bulb
X Y z L1 L2 L3
A B C v v
B Cc A
C A B v v

Which one of the following options correctiy identifies the materials used to
make the three rods?

Rod X RodY Rod Z
(1) glass copper aluminium
(2) copper glass fron
(3) glass plastic copper
(4) iron aluminium glass

(Go on to the next page)



30. Four electric circuits, P; Q R and S were set up as shown below All the
identical bulbs and batteries are- worklng properiy ) '

—®—®—. 11
R~R— ..
—ijij—

Circuit P

Circuit Q

—ft]—

Circut R - Circuit S

Which one of the following cormrectly arranges the circuits from the dimmest to

the brightest bulbs?
Dimmest . —> Brightest
(1) Q R P S
) S P R Q
(3) Q P S R
4) P 8 Q R

End of Booklet A2
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For questlons 31 to 37 wnte your answers in the spaces prowded The number of
marks available is shown in brackets [ ] at the end of each question or part question.
o : o .- [20 marks] .

31. Samy camied out 4 different activities for the same duration. These activities are
represented by the lefters A, B, C and D. He then measured his breathing rate
and pulse rate for each activity. The results are shown in the tabie below.

Breathing Pulse
Activity rate rate
{ per minute) | ( per minute)
A 15 66
B 45 130
C 35 106
D 20 70

(a) Match the activities A, B, C and D with the descriptions below.
Each activity, A, B,.C and D can only be used once. [21

Description Activity

running

brisk walking
strolling
sitting

(b) What is the reiationship between his breathing rate and his pulse rate?
{1}

3

(Go on o the next page)



S 32 Llllan placed 2 sl|ces of bread cut from the same lcaf mto two ldentlcal alrhght

=~ boxes, Aand B. . : ;
She placed boxes Aand B in awarm place Substance R absorbs mmsture frcm

-'the air.

Box A ’ Box B

— air —1

—

! — 15 |

(a)

(b)

©

| | |

bread water bread Substance R

in which box, A or B, would fungus first appear on the bread?
Give a reason for your answer. 11

The boxes are airtight. How does this make the experiment a fair test?

[1]

Lilian bought a box of mooricakes. When she opened the box, she
found a packet of drying agent as shown in the diagram below.

Silica Gel
Do Not Eat
Throw Away

Why was the drying agent included in the box of mooncakes? f1]

3

{Go on to the next page)



. [T T R
PN v

- _?;3 Dora conducted an expenment using simliar plants as shown below She removed
most of the roots from plant B. She then recorded the water level, L, af regular tlme" ‘
_intervals. - : - -

Plant A Plant B

The results are shown below.

- Water level
L (cm)

S

>
Time (hour) .

(a) Based on the graph above, which line, R or S, represents the resuits
obtained for the plant with more roots? Exolain your answer. 1]

(b)  What is the purpose of the oil in this experiment? (1]

(Go on to the next page)



34 Thedlagram below shows 'Pla'nt'A' and Ii'l_ant'_B after a storm.

Plant A : Plant B

(a) What Would be the likely conditions of Leaf A and Leaf B after a few days?
{1

{(b) Give a reason for answer (a).

{1l

(Go on to the next page)



- 35 ' A group of students wanted to i nd out how water would aifect the Qermlnau()n WL

of seeds: They prepared the. set—ups as shown below.

(a)

(b)

(c)

Setup C (35°C) SetupD (25°C)

In which set-up(s) did the seeds germinate? [1]

If the students wanted to find out whether temperature affects the
germination of the seeds, which two set-ups should they use for
a fair test? [1]

Based on the experiment ih (b), list two variables that should
be kept the same. [1]

Variable 1:

Variable 2:

—

(Go on to the next page)



3B Study the flowchart below. --

| Organisms

r Seeds
Presence of | Yes dispersed | Yes
flowers by wind —__'®
No
L i .
Able to Yes No
{ photosynthesise ——*©
) _ v .
o
(@) Which organisrgs)are likely to reproduce from spores? ' 1
(b} Explz;in your answer for (a). 1]
(¢} Name a similar characteristic between organisms A, B and C. [1]
3

{Go on to the next page)



a7 Stti conducted an expenment 10 ﬁnd out whlch pads of the Flower Z shown .
below were necessary to form a fmrt. Flower Zis produoed by Plant Z.

She removed two parts of Flower Z. She then transferred some pollen from
another flower of the same plant to the remaining parts of Flower Z.

After some time, Flower Z formed a fruit.

vo)

0

"Flower Z

(@) Which two parts, A, B, C or D, of Flower Z did Siti remove such that
Flower Z could still form a fruit? )

{Go on to the next page)



. Tun

. The diagrams below, Q and R, show two diﬁerent-&iépetsal paitems. .

wind direction . . wind diréction -
Q -.-.. : .. - ‘- = Seed_s ——---: . R

(b)  Siti knows that the seeds of Plant Z are dispersed by animals.
Which diagram, Q or R, shows the dispersal pattemn of Plant 2?

Explain your answer. [2]
{c) Explain why it is important for seeds to be dispersed. fi]
3

End of Booklet B1
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2 : )
For questlons 38 to 44, write your answers in the spaces prowded The number of marks o

: avallable is shown in brackets[ ] at the end of each questlon or part questlon S
- [20 marks]

38. Joe went shbpping with his mother, Mrs Lim, for a cooking pbt. Mrs Lim chose and
bought a cooking pof as shown below.

: plastic handle
pot cover
SO

(@) [If Mrs Lim wants to see the food that she is cooking in the pot without opening
the cover, which material should she choose for the pot cover? Give a reason for

(1

your answer,

(b) Explain why the handle for the cooking pot cover is made of plastic. (11

2

(Go on to the next page)



39. The diagram below shows a mlxture of magnetlc and non—magnehc metals being

poured onto a movmg belt. The magnetxc and non-magnettc metals are then separated
" and collected in containers A and B. '

3, on-magnetic metals

a -
*‘gﬁga;go agnetic metals

olfer with magnet in it

container A ——L l T container B

(@) Explain how the magnetic and non-magnetic metals are separated and collected
in containers A.and B.’ [2]

{b} More metals can be poured on the moving belt in order to fill containers A and B
faster. Suggest another way to fill containers A and B faster. [1]

(Go on to the next page)



- :-40; . Thie'set.ip below uses a-fight sensor to'count the number of pecple entering a room, - -

..... . .. - v

light sensor connected to a counter

At any time, only one person caii pass through the doorway. When a person is between
the light source and light sensor, the body blocks the light reaching the sensor. The data
recorded is shown in the graph below.

Amount of light detected

by the light sensor (fux)

¥ 3

- Time (s)

0 20 40

(a) Based on the graph abave, how many people walked through the doorway in 40
seconds? [1]

(b) The light source and the sensor are placed 120 cm above ground. State whether -

a child who is 100 cm in height can be counted. Explain your answer. [1]
(c) Which property of light can be demonstrated in this set-up? [1]
3

(Go aon to the next page)



41. - Ahmad-took a piece of beef steak out from the freezer and wanted to defrost it usmg a C

tray He has a metal tray and a plast:c tray as shown in the dlagram below

metal tray plasti_c tray

(@) Which tray should Ahmad choose {o place the beef steak if he wanted to defrost it
in a shorter time? Explain your answer. . . (1]

(b) After defrosting the beef steak, Ahmad wanted to fry the be_ef steak on a hot
metal plate.

hot metal plate @/
I 1

one slice of beef steak

hot metal plate

His mother advised him to cut the beef steak into beef cubes as shown
above so that the time taken to fry the beef cubes on the hot metal piate would be
shorter. Do you agree with his mother? Explain your answer. [2]

3

{Go on to the next page)



: - : ; 6
42 Choon Meng used two xdentlcal ﬂasks X and Y and funne[s to prepare the 'set-ups
o shown below. ‘He used a tlght ﬁthng rubber stopper and some loosely fitted cotton wool. -
to hold the funnels in place. He then poured 250 cm? of water into each funnel and
timed how Iong it took for ali the water to enter the flask.

funnel

tightly fitted
tubber stopper

loosely fitted cotton
wool

Flask X Flask Y

(a) Which flask, X or Y, would take a shorter time for all the water to enter the flask?
Explain your answer clearly. i4]

Choong Meng also made a lung model as shown below. He observed that the
balloons in the bell jar inflated when he pulled the rubber sheet downwards.

plastic tube ell jar

balloon

rubber sheet

(b) Why did the balloons inflate when he pulled the rubber sheet down?

3

(Go on to the next page)



:543 In an attempt to conserve water in what seems fo be an ever—lastmg drought, llght

= ptastlc shade balls" were released in the LosAngeIes Reservonr i

plastic balls

water

(a) BExplain how these plastic “shade balls” are able to fight drought and help protect
the water supply? ) 2]

(b} Watercan bé'ooriservéd'througﬁ the 3Rs. Suggest a way in which water usage
can be reduced. M

(Go on to the next page}



44, Tho diagram below siows the eleétical coriofio of Mir L hovise:

_livingroom . . . bedroom. . kitchen

:::,:;* Rl & ®

Electrical connection in Mr Lim’s house

(a) The bulbs above could be turned on individually only when needed. What is
another advantage of connecting the bulbs in the house as shown above? [1]

(b) On the diagram above, draw four switches such that Mr Lim could turn on each
bulb individually in each room only when needed. Mark an “X” on the circuit to
show where each switch should be connected. 11

(c) Based on your answer in (b), would the arrangement of the switches help Mr Lim
to save on his electricity bill? Explain your answer clearly. [11

End of Booklet B2
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Q31a.Running - B
Q31a. Brisk walking ~ C
Q31a. Strolling-D
Q3la. Sitting- A

Q342b. The higher the breathing rate, the higher the pulse rate.

(Q32a. Box A. Box A has the conditions needed for fungus to survive, air, water and
warmth.

Q32b. By making the boxes airtight, Lillian ensures that no water vapour / moisture
from the air reaches the bread. It also prevents water loss from box A.

Q32c. Itis to prevent fungus growing on the mooncakes as the silica gel absorbs
moisture in the box.

Q33a. Line S. Roots absorb water. Plant A has more roots than Plant B and thus, the
water level in Plant A is lower than B.

Q33b. Itis to prevent water from evaporating so that we can confirm that the
decrease in the water level is only caused by the amount of roots.

Q34a. Both leaves would die.

Q34b. Leaf A and Leaf B cannot receive water absorbed by the roots and transported
by the xylem.

Q35a.Set-upB.
Q35D. Setup A and Set up B.

Q35c. Variable 1: The amount of water. Q35c. Variable 2 : The size of the cotton
wool.

Q36a. Organism C and D.

Q36b. Both do not have flowers so pollination and fertilization cannot take place for
seeds to develop.
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-jQ36c They can photosynthemse
_- Q37a EartBandC . S R . : m L

"Q37b.‘Dia'gram R. The seeds of plant Z are scattered everywliere justlike in Diagram - -
R. It does not follow the wind direction as it is not found where the wind blows.

Q37c. Itis to prevent overcrowding and reduces competition between the young and -
parent plant for sunlight, space, water and nutrients.

Q38a. It is transparent and allows Mrs Lim to see the food in the cooking pot.

Q38b. Plastic is a poor conductor of heat and it would not gain heat quickly so that
peopie using the pot will not burn themselves when they touch it

Q39a. The magnetic materials would be attracted by the magnet in the roller which
would drop into Container A. Whereas the non - magnetic matrials would be rolled
into Container B.’ :

(Q39b. Speed up the speed of the moving belt.
Q40a. 6 people

Q40b. No, a child who is 100cm in height cannot be counted. The child would be too
short and his body cannot block the light from reaching the sensor.

Q40c. Light travels in straight lines.

Q41a. He should choose the metal tray. Metal is a good conductor of heat and when it
touches the hotter surface of the metal tray, the beef would gain heat and defrostin a
shorter time.

Q41b. Yes. The beef cubes will be cooked faster on the hot metal plate because the
beef cubes have more surface area in contact with hot metal plate so the beef cubes
will gain heat at a faster rate from the metal plate than the plastic plate.

Q42a. Flask Y. The air in flask Y can escape more quickly than the air in flask X
making space for water to enter the flask as there are tiny spaces in the cotton wool
which allow air to escape.

Q42b. When the rubber sheet was pulled down, the volume or space in the bell jar
becomes bigger and air rushes into the bell jar to occupy the space.

Q43a. The plastic balls are light and float on the surface of water in the reservoir.
This reduces the rate of evaporation as the exposed surface area of the reservoir
water is decreased.

Q43b. Wash plates in a basin of water instead of washing them under a running tap

N
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Q44a. When one bulb fuses, the other bulbs can sull hght up
Q44b SEE BICTURE ST T e S

living room™ - " bedroom kitchen

Xk %

Power
supply

Electrical connection in Mr Lim’s house

Q44c. Yes. The switches can control the bulb individually and the light bulbs that are
not needed do not need to be lit, saving energy.

THE END
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